BK

#RE%/Park No.

EhmBEPat name

ZH=2/Qty

1

B EEAEE/Housing

1

2

& /Bearing

148/1 set

3

[E4R/Holding lid

1

Ef/Collar

2

JHE/Seal

2

FHEIIRIE/Lock nut

1#8/1 set

M7 A LT IR AHBT SR A

Hexagon socket-head

Setscrew(with set piece)

4-OXBHEOYIBRZ

4-X drill @Y counter bore depth Z

H1

W T 7T T

BF

#w5%/Park No. | ZBEREH/Part name 2E/Qty
1 #lREEAEE/Housing 1
2 #fi7F/Bearing 14#8/1 set
3 CEY303R/Snap ring 1

2-OXBHEQYIBRZ

2-X drill @Y counter bore depth Z

L1 L
E8{ii(unit) : mm
i

Wil %? L 11|23 B H iot_’oz 1022 B1 |HI P |c1 | c2| X | Y | z|mM]|T
BK10 | 10 | 25 | 5 |315| 5 | 60 |39 | 30 | 22 | 34 | 325| 46 | 13 | 6 |66 | 11 | 5 | M4 | 16
BK12 | 12 |25 | 5 |315| 5 | 60 |43 | 30 | 25 | 34 | 325| 46 | 13 | 6 | 66 | 11 | 15 | M4 | 19
BK15 | 15 |27 | 6 | 34 | 6 | 70 |48 | 35 | 28 | 40 | 38 | 54 | 15 | 6 | 66 | 11 | 65| M4 | 22
BK20 | 20 |35 | 8 | 43 | 8 | 88 |60 | 44 | 34 | 52 | 50 | 70 | 19 | 8 | 9 | 14 | 85| M4 | 30
BK25 | 25 | 42 |12 | 54 | 9 | 106 |80 | 53 | 48 | 64 | 70 | 85 | 22 | 10 | 11 |175| 11 | M5 35
BK30 | 30 | 45 |14 | 61 | 9 | 128 | 89 | 64 | 51 | 76 | 78 | 102 | 23 | 11 | 14 | 20 | 13 | M6 | 40
BK35 | 35 | 50 | 14 | 67 |12 |140 | 96 | 70 | 52 | 88 | 79 | 114 | 26 | 12 | 14 | 20 | 13 | M8 50
BK40 | 40 | 61 | 18 | 76 | 15 | 160 |110| 80 | 60 | 100 | 90 | 130 | 33 | 14 | 18 | 26 | 17 | M8 | 50

I - L
I
=
ESfi(unit) : mm

e | WS i
o L B H io'f’oz i:oz BI |HI [P X | Y z| E |dz ok | EECLIR
BF10 | 8 | 20 | 60 | 39 | 30 | 22 | 34 32546 |66 | 11 | 5 | 15 | 55 | 608ZZ s8
BF12 | 10 | 20 | 60 | 43 | 30 | 25 | 34 32546 |66 | 11 | 15| 18 | 55 | 6000ZZ S 10
BF15 15 | 20 | 70 | 48 | 35 | 28 | 40 38 |54 |66 | 11 | 65| 18 |55 | 6002ZZ S15
BF20 | 20 | 26 | 88 | 60 | 44 | 34 | 52|50 |70 | 9 |14 | 85| 22 |66 | 6004zZ S 20
BF25 | 25 | 30 | 106 | 80 | 53 | 48 | 64 | 70 |85 11 |175| 11| 33 | 9 | 6205ZZ S 25
BF30 | 30 | 32 | 128 | 89 | 64 | 51 | 76 | 78 |102| 14 | 20 | 13| 33 | 11 | 62062z S 30
BF35 | 35 | 32 | 140 | 96 = 70 | 52 | 88 | 79 |114 | 14 | 20 | 13| 35 | 11 | 6207ZZ S35
BF40 | 40 | 37 | 160 | 110 | 80 | 60 | 100| 90 |130 | 18 | 26 [17.5| 37 | 14 | 62082z S 40

ESREFHREREZEIR Surface Special treatment is available.

EZREFHREE2SIH Surface Special treatment is available.




	商運型錄-藍-P76-77

